/A

6 [ RHHAESE 5 5

e
=

] L R SR A R 4 7 RICESE | S0 5 FEEARLE (&

S ) ISR D& O HAEE,

ERELICOTROLEBIAELET,

THEHFE5H20H

fil] |l B S S 3k AL

LRI B, TR U\ékiﬁ:(,\%'ﬁo)ﬁf/ #

Sl

RERE[S }}

maRmE L S

[24E5 =]

1.% # F % 14 7

2. % & X B 1, 354, 612 M

3.3 B B X & 6, 706 kg
HHABZRIAHMD L B0

[ & =)

1.% $ F #& 17

2.3 % & X 6, 735 M

SHEESCBEW L E 6, 735 Y

4. 3 1% = 0 ke
BB R = IEFE TR | AESFEBISE | BINE
I HAER 1 6, 735 M 6,735 M Okg
& & 6, 735 1 6, 735 M Okg
. ¥ F & A DEET 5 A EA~RIA

2.% ¥ ¥ H

SMe6FES5A240 (&)



E%’ﬂﬂﬂﬁ‘fﬁ(w%ﬂ5fﬁf‘*‘7}<$m,u§%$§ 73‘“\‘.)

XA iA&E - CEHEESME) | HFERRE(ke)
ﬁH:HEJgZFﬁ ,%ﬁ &8 107,464 532
i Bl ST AR HEE2 253,712 1,256
AT HEES 27,876 138
{iR R 32 Fir HEEB4 118,170 585
{ai P & ES 69,892 346
{ R = R HEES 393,698 1,949
{ AT FT tHEE7 40,400 200
A= Fr HEES 24,240 120
(A HEEY 29,896 148
WA AT HEA10 94,334 467
{iH B 2 A Hea 38,784 192
BT Heg2 20,402 101
=R HEART3 18,180 90
HRXE HER14 117,664 582

a3 1,354,612 6,706




